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Question Number : 1 Question Id : 630680271202 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Telangana region was part of the ~ state from 7t September 1948 to 15 November 1956,
Options :

1 Mysore
. -

5 « Hyderabad

3. % Pudukkottai

4. % lravancore

Question Number : 1 Question Id : 630680271202 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SO0 (00 17 025 1948 )06 1 5025 1956 S35 o0 ariom G030,



Options :
| . DD
.o =

5 ¢ TS

5, DETR

S

Question Number : 2 Question Id : 630680271203 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOO0TS GETW DT o, B e SRR O 220 &G04,

Options :

1 % 00027

) % SO

Question Number : 2 Question Id : 630680271203 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Telangana is surrounded by Maharashtra and Chhattisgarh in the North and in the West.
Options :

, Punjab

2. % Kerala

3.« Karnataka

4 % (Gujarat

Question Number : 3 Question Id : 630680271204 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Telangana state came info existence on 274 June 2014 with Districts.

Options :

L]

2.« 10

Question Number : 3 Question Id : 630680271204 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SOOI T RO 2 257 2014 BrOE DEIG0A.



Options :

1.&;35

2 « 10
3. % 15

4, % 20

Question Number : 4 Question Id : 630680271205 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are the two major interstate rivers of Telangana?

Options :

1.+ Krishna and Godavari

2 Ganga and Yamuna

3 x Yamuna and Saraswati

- o 4 o
4 5 Kaveriand Ganga

Question Number : 4 Question Id : 630680271205 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
806 e3¢5 B0 R BO |5 0S| T3 SN ID?

Options :



1 v 393F HBaA» s

2 % O N8N Ahdwee
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4 % 57630 0B Kok

Question Number : 5 Question Id : 630680271206 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract 2022, what is the density of the population of the state?

Options:

212 per km?

5 312 per km?

412 per km?

19 nar ke
4 g S12perkm

Question Number : 5 Question Id : 630680271206 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SO U7 $e708 Rr0r040 2022 (D5°80, U7 @ 230 Jr0|¢ed Joed?



Options :

L 1S km? &0 212
, o DS km2 & 312
L . DS km? 8412

4 o DB km2 5 512

Question Number : 6 Question Id : 630680271207 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract 2022, what is the Child Sex Ratio (Female per 1000 Males) in the state?
Options :

1. % 912

5> v 932

4w 972

Question Number : 6 Question Id : 630680271207 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



581000 5508 K88,

W

B0me T3} Herod 7040 2022 9580, T ao8 e ol A8 (
3057 ) Oeh?

Options :

1. % 912

5> @ 932
3. % 952

4. % 972

Question Number : 7 Question Id : 630680271208 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Boome 073 Her08 7030 2022 3560, 713 Dot A8 (58 1000 508 ek, (Rey)
2068?

Options :

|, 998
5 988
3. x 968

4w 920

Question Number : 7 Question Id : 630680271208 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

As per Telangana state statistical abstract 2022, what is the sex ratio (Female per 1000 Males) of the state?

Options :

1. % 998

5 « 988
3 . 968

4 s 920

Question Number : 8 Question Id : 630680271209 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 2023 °¢38, S0 $5adar el o sDO(EY a)ad?
Options:

. S053B oY

5 » OABE AdozS O

T0EFS e B

) & T8 T

Question Number : 8 Question Id : 630680271209 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

As of May 2023, who is the Agriculture Minister of Telangana?

Options :

1. % K Chandrashekar Rao

5>« Singireddy Niranjan Reddy

., Chamakura Malla Reddy

4. % Thanneeru Harish Rao

Question Number : 9 Question Id : 630680271210 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

V

808 TBS® TETErd wowd @ 52:08) (YW PETAS 8P Soorree ronb) ed 52608y @ob 'aocéfgj) (
FTCCI) (9'03301523&(6 QodBo AB?
Options :

1w 1910

5> v 1917

3. 1927

4 . 1937

Question Number : 9 Question Id : 630680271210 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The Hyderabad Chamber of Commerce (now Federation of Telangana Chambers of Commerce and Industry) (FTCCI)

was established in which of the following years?
Options :

1 % 1910

2.« 1917
3. % 1927

4. % 1937

Question Number : 10 Question Id : 630680271211 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(D &5 TERVE) 906 TS 9oaRODAS (MoSPI) (9560, Beorre 2022-238 S
9o BH0S R ©) TaFod ©8imod 506 AON0A.

Options :
1. ¢ 13
2. # 255

3. #® 3

4, % 435

Question Number : 10 Question Id : 630680271211 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Telangana ranked in per capifa income in 2022-23, surpassing all other states in the country, according to the

Ministry of Statistics and Programme Implementation (MoSPI).

Options :

1\{ lS‘t

Question Number : 11 Question Id : 630680271212 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct answer.
A. Perini Sivatandavam dance form is also known as ‘dance of warriors’.

B. Dhoom Dham is a composite art form which highlighted the injustice to people .
Options :

1 & OnlyA

5 5 OnlyB

3 « BothAandB

4. w Neither A nor B



Question Number : 11 Question Id : 630680271212 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
808 &30 YA, DTN AT, doTHEOR.

A. 203 23T dgess SrarR) ‘TIFCS 9ehs0’ @) S Wotrd.

B. e o @6 (D235 238 iy, DBETFD Q[ Fad EF°ETFR0.
Options:
1 ASTED

5, BB

3 v AnBcin Ben Bodky

4w AST BoS DA s

Question Number : 12 Question Id : 630680271213 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct pair:

Museum Place
Buddhist Heritage Museum Nalgonda
Salar Jung Museum Pillalamarri

District Heritage, Archaeological Museum | Nizamabad

gl 0| W »

Gandhi Centenary Museum Karimnagar

Options :



1« A, CandD

2 A B andD

3 & A BandC

4 % A B.CandD

Question Number : 12 Question Id : 630680271213 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DB 220880 0THT 0!

SOP0500 FTAL:To)
A | &0 TPCRS8 auorjEoio oed o
[~ 0
B | Jrerb 206 durg@omno QO
C | &g° 0°0Rag, QHUPORD OfERoo | D2Parerd
D | mrod 20856 durg@omno 460016
Options:

1 v A C 8050 D

, o A B, 8050 D

5 . A B8N C

4w A B,C&8a5nD



Question Number : 13 Question Id : 630680271214 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On which date was the Buddhist Heritage Museum officially Inaugurated?
Options :

. May 14,2015
2 May 14, 2014
. May 14,2013
- May 14, 2012

Question Number : 13 Question Id : 630680271214 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

230 arBeh § 00728000 @ESBEOMT [BrE00TIRGRS BE IO?
Options :

1 & o0 14,2015

5 v 0 14,2014

5, 3014,2013

4y 5D 14,2012



Question Number : 14 Question Id : 630680271215 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B30T A 8§08 SOCTFOD @ &) |NBDFOS 3HDCHOG:!

L8 Ehxcto ndd0
A. D ard RO es030 1. D& Dieao
=) [
B. o° dnoddo 2. eP0 D0
C. e HFare Fr¢d eswot0 | 3. gresorerd
D. 32001& & 4. gard
Options :

. . A-1,B-2,C-3,D-4

, v A-2,B-3,C-4, D-1

5 A-3,B-4,C-1,D-2

4 . A4,B-1,C-2 D3

Question Number : 14 Question Id : 630680271215 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following temples of Telangana:

Monument Location

A. Sri Gnana Saraswathi Temple L. Nirmal Town

B. Birla Temple

I3

. Basar town

C. Lord Venu Gopala Swami Temple | 3. Hyderabad

3
D. Fort Shamgardh 4. Kallur

Options :



| » A-1.B-2.C-3,D-4

5 « A-2.B-3,C-4,D-l

3 4 A-3,B-4,C-1,D2

4w A4,B-1,C-2,D-3

Question Number : 15 Question Id : 630680271216 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?
A. Gadwal, in the state of Telangana is considered world famous for the handloom zari sarees.
B. Dokra metal crafts is the form of embroidery and mirror work.
C. Nirmal oil paintings use natural dyes for depicting themes.

D. Birdi crafts involves several stages like crafting, engraving etc.
Options :

1 % A B . CandD
2 A BandC

3« A, CandD

4 % A, Band D



Question Number : 15 Question Id : 630680271216 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 80806 HBIG AB?
A. B80T TR0 0 A 5S BRS 236 DB (HHO (HarSrodod.
B. &5 6P (59 9T dozrancid 80k (3B S8 Bng) (DS 8o,
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Options :

.« A B,C 83D
, . A B8 C
3 v A C 8050 D

4w A BXBAMH D

Question Number : 16 Question Id : 630680271217 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about the Bonalu Festival?
A. Festival Celebrated during the month of Ashadam.

B. Important part of this festival is Rangam whereby women standing atop of an earthen pot invokes Goddess
Mahakali

Options :

1 5 OnlyA



5 5 OnlyB

3. % Neither A nor B

4.+ BothAand B

Question Number : 16 Question Id : 630680271217 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Sarer ok 1600 808 T3S BN A?
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Options:

1 ASTED

5 4 BO(S

5« ASoE BeS A s

4 v ANBCN Bew Bodar

Question Number : 17 Question Id : 630680271218 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



B0maeS &5d9) 2058) 8000 HB0D 808 ¢3S HBXHE DE?
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Options :

1« A B, C 835 D

, o A BBa® D

5 4 B, C 08350 D

4 v A BB C

Question Number : 17 Question Id : 630680271218 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about the Basavanna Temple located in Telangana?
A. It is located in Kuravaram Village.

B. It is also known as Siva Temple.

C. It has built on high Adistana with entrance from Southern Side.

D. Floating Bricks were used in its construction.
Options :

1 % A B.CandD



2 A Band D

3 B.Cand D

4 v A/BandC

Question Number : 18 Question Id : 630680271219 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To determine the culture of Telangana, who sowed the seeds of an independent and self-sufficient village economy?

Options :

1 Kakatiyas

2« Satavahanas
3 % Nizam’s

4 5 Qutbshahis

Question Number : 18 Question Id : 630680271219 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTE OISR AGON0ERE, )360(¢ 0B 5000 DEe (T es88 0%
Deren B000 ASE?

Options :

| % SESainen



9 o FEHToTAEN)

3 g 2O

4w 8065025 araren

Question Number : 19 Question Id : 630680271220 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement about ‘Chindu Bhagavatham’.
A_ Tt is performed widely across Telangana.
B. It is generally about the struggle and Exploitation.
C. It is theatre art form which combines dance, music, dialogue, costume.

D. It gained its name from its presentation as it is interspersed with leaps and jumps.
Options :

A B CandD

5« A CandD

3 A BandC

4 % B.Cand D

Question Number : 19 Question Id : 630680271220 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



06 270 HB0E) N 80 AothEod:

A. 96 800 TR0 VSO [H6;0RE08.

B. 20 Frre0r SFT0 B0 Bk 020800598,

C. 28 A0, Noliso, Berh, sRTDOS §rdd BOHED E78ro.

D. 56 @2¥S e flodhen HBAM NIEFOS ASARMRGIOBNS T NS 08 T DA
§FOB00.

Options :

A, B, Csn8cin D

1. %

5 v A C 8050 D

5 . A B8N C

4 B.C 83D

Question Number : 20 Question Id : 630680271221 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following festivals in Telangana is famously known as “Peerla panduga’?
Options:

1. % DBonalu

5 & Ugadi

3.« Muharram

4. % Dasara



Question Number : 20 Question Id : 630680271221 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
808 73S’ 8OOSR & D0 ‘DS S0t @ Erae Hewwrds?

Options :

1 & Sorew

2. % GO

3 v B0

Question Number : 21 Question Id : 630680271222 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the vear of construction of dams, which of the following is correct in increasing order?
A. Bheemanpally Dam
B. Boath Dam
C. Bethampudi Dam

D. Boggulavagu Dam
Options :

|« AB.C,D

. =



, v AC.D.B

3 » AB,D.C

.=

4 » B.D.C.A

. ®

Question Number : 21 Question Id : 630680271222 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
808 T3S 380 Nomen D080 (9580, 8Fire 3506 1B B?

A DHSHO e358Q

B. 5 e30586)

C. Z0sy6h e3:98E)

D. STherarth escdéey

Options :
.« A/B,CD
, v A CD,B

5. ABD,C

4 . B,D,CA

Question Number : 22 Question Id : 630680271223 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

As per Telangana Socio Economic Outlook 2023, what is the ranking of the Telangana State in Oil Extraction Rate
(OER)?

Options :

1.« lSI

~nd

Question Number : 22 Question Id : 630680271223 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Boorres Fresres ey BE @08 2023 K570, S0 39888 Ben (OER)S® Seorres P90 °s080h) oes?
Options :

1_;,/155

2. % 20

3. % 355

4. % 45

Question Number : 23 Question Id : 630680271224 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
§08 €30 a3)GuI0d:

DG/ | Didreso

A. B eoch Desgo | 1. ﬁﬁgcﬁ D05 OAD S PP BV ©3) DD Yododto.

B. s>Beato 2. zore 22,000 8% drarabe 9501)0@6 ) 25 050 JETOL) FHA HDheD
e90B0c=S DED “‘;oombo"oeﬁﬁ wrera 46,000 By PcgBocto.

C. 0 w680 | 3. 006 neo ey 247 DR 0%) oo 108 rodtod” 33778 docsc,

D. &35 &65 4. JEora 75,000 svozrd) Sobéo o a?gaﬂ“oi)o Vo)) EG“]SE\'J A bg.anmd
mgmm eofocitio.

Options :

. . A-2,B-4,C-1,D-3

, . A-3,B-1,C-2,D4

5 v A-4,B-3,C-2, D-1

4 . A4,B2 C1,D3

Question Number : 23 Question Id : 630680271224 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following:

Scheme/Policies Benefit

A. Rythu Bandhu Scheme | 1. To provide all the necessary items for pregnant women and

the newborn baby.

B. Haritha Haram 2. Restoring around 46,000 tanks in five years to provide

irrigation source to about 25 lakh acres spending 22,000 crore.

C. Mission Kakatiya 3. To increase the present 24% tree cover in the State to 33% of

the total geographical area of the State.

D.KCRKit 4. Providing investment support to Agriculture and Horticulture
crops by way of grant of 75,000 per acre.

Options :
1 % A-2.B-4.C-1,D-3

5 A-3,B-1,C-2,D-4

3 v A-4,B-3,C-2,D-1

4w A4,B2,C-1,D3

Question Number : 24 Question Id : 630680271225 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the NITT Aayog Health Index, what is the ranking of the Telangana State in the year reference year 2019-207

Options :

1. % 15t

r-.nd

2. <



Question Number : 24 Question Id : 630680271225 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S (NITI) s 8l (a0 (35740, (Ts500 190856, )60 2019-2065' Bexorren T{aF8 oS
07305 0)06?

Options :
1.8 1
2. % 255

3. v 3o

4. # 435

Question Number : 25 Question Id : 630680271226 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following in Chronological order (first to last) of the vear of launch:
A. KCR Nutrition Kit
B. Dalit Bandhu
C. Shaadi Mubarak
D. Mana Ooru-Mana Badi
E. Kanti Velugu

F. Arogya Lakshmi
Options :

1 » AB.C.DEF

, . EE.B.C.D.A

5 » D.EAB.C.E

4 v C.EE.B.D.A

Question Number : 25 Question Id : 630680271226 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



800 are3Q) a3 (90200 06850 SEFGOMT FOESFDRI0 (FNAE 0k 1B HO8)
9:0,08:

A 300 Siasird 86
B. 9 20080

C. a0 Serds

D. 5069 E0rs8009 2263
E. 4083 Zenid

Fes8%: 083

Options :

.« AB,C,DEF
, . FEBC,D,A
;. D.FAB,CE

4 v G FEBDA

Question Number : 26 Question Id : 630680271227 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per Telangana Socio Economic Outlook 2023, between 2014-15 and 2022-23, the state’s

contribution to India’'s nominal GDP increased from 4.1% to
Options:

2« 4.9%



Question Number : 26 Question Id : 630680271227 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seorre Py ey B¢ @08 2023 Hsmo, 2014-15 H00%» 2022-230 853555, PEBRY TPedssrgsy GDPS
o9 erseBo 4.1% ol § 20heA.

Options:

1. % 4.4%

5> v 4.9%

3 % 5.3%

4 6.5%

Question Number : 27 Question Id : 630680271228 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the Economic Survey 2022-23, which of the following sustainable development goal is already achieved

by the Telangana State?
Options :

1 Zero hunger
.o =

2 No poverty



3.« Good health and well being

4 5 Quality education

Question Number : 27 Question Id : 630680271228 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e90% 905 2022-23 (550, 808 T Ber0ed TR0 B)ET &) 20NB ©DS5YD T
ENOAOIAY;

Options :
1w @38 0350303 7% BESESSB0

2 w830 B

3 v 00D 8850 HBW (Fabdn)

o 5RO S

Question Number : 28 Question Id : 630680271229 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is/are correct about ‘KCR Kit” scheme?

A, The scheme was launched in 2017.

B. In this scheme, the mother is provided with financial assistance of Z15,000.

C. In this scheme, the mother is provided with financial assistance of 218,000 in the case of a girl child.

D. After the delivery, the mother is provided with a kit consisting of 20 items.
Options :

1 & OnlyA
2. % BothAandD

3 % BothCandD

4 5 OnlyA, BandD

Question Number : 28 Question Id : 630680271229 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 630680271230 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the statements about Mana Ooru-Mana Badi Programme and identify which statements is/are correct:
A. Tt is aimed at all around development and creation of effective infrastructure in schools.

B. The programme was launched on 10 March 2022.
Options :

1. % BothAandB
5« OnlyA

3 5 OnlyB

4. w Neither Anor B

Question Number : 29 Question Id : 630680271230 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % ANOCW Bew Bodar
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Question Number : 30 Question Id : 630680271231 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement about the ‘Telangana Ku Haritha Haaram’, a flagship programme of the Telangana
Government.

A. Tt envisages to increase the present 24% tree cover in the state to 30% of the total geographical area of the state.

B. B. 10 crore seedings are proposed to be planted outside the notified forests area.

Options :

1. % BothAandB

5 5 OnlyA

3 5 OnlyB



4.« Neither Anor B

Question Number : 30 Question Id : 630680271231 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 630680271232 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following.

Scheme Year of the launching
A. Dalit Bandhu 1.2021
B. Kanti Velugu 2. 2015
C. Mission Kakativa . 2018

| L2

D. Aasara Pension L2014




Options :

| v A-1,B-3,C-2,D-4

5y A4,B-3,C-1D-2

3y A-4.B-2,C-3,D-l

. =

4 A-1.B-2.C-3,D-4

.

Question Number : 31 Question Id : 630680271232 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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A S08 e300 1 2021
B. Zoéd Dewtd 2. 2015
C. NOD =ogdapd 3. 2018
D. esdor ocddd 4. 2014

Options :

1« A-1,B-3,C-2, D4

, . A-4,B-3,C-1D-=2

5 . A-4,B-2,C-3,D-1

4 . A1,B-2,C-3,D-4



Question Number : 32 Question Id : 630680271233 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order (first to last) as per the occurrence of event:

A. The Indian Government appointed the States Reorganisation Committee to look into the various statehood

demands.
B. MK Vellodi was appointed as the first chief Minister of Hyderabad state.

C. The Indian government conducted a military operation called Operation Polo to bring Hyderabad state into the

Indian Union.

Options :

1. &= F’.’L‘B‘C?

2.« C-B-A

4« A-C-B

Question Number : 32 Question Id : 630680271233 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1« A-B-C
5, v C-B-A
3 . C-A-B

4.« A-C-B

Question Number : 33 Question Id : 630680271234 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about Qutbshahis?
A. Sultan Quli Qutb Shah declared his independence in 1496.

B. Seven sultans of Qutbshahis ruled not only Telangana but the entire Telugu-speaking land including parts of

present day Maharashira and Karnataka.

Options :

1.+ BothAand B

2 % Only A



3 5 OnlyB

4. w Neither Anor B

Question Number : 33 Question Id : 630680271234 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 630680271235 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following kingdoms in chronological order (first to last).
A. Kakativas
B. Asaf Jahis
C. Qutbshahis

D. Satavahanas

Options :

1 % A B.CandD

2 A C,BandD

3« DA, Cand B

4 % C.B.Dand A

Question Number : 34 Question Id : 630680271235 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

A, B, Csn8cin D

1. %

, . A C,BX8am» D



5 v DA, C58a50B

4 . C.B,D&8cHn A

Question Number : 35 Question Id : 630680271236 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the event with the year it happened:

Event Year

A. Appointment of State 1. 1971

Reorganisation Commission

I

B. States Reorganisation . 1953

Commission submitted its report

C. Indira Gandhi had called snap | 3. 1955

parliamentary elections in

Options :

| v A2.B-3.C-1

5 4 A-1.B-2.C-3

3y A-3.B-2,C-1

4w A2,B-1,C3

Question Number : 35 Question Id : 630680271236 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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B. oogre) @aassaégsam 00D 6D IDBE Ddyodod | 2. 1953

C. Q0&T° TPod D000 PCR00D D) EOH 33@@353“&&) 3. 1955

Options :

. v A-2,B-3,C—1

, . A-1,B-2,C-3

3. A-3,B-2,C-1

4 A-2,B-1,C-3

Question Number : 36 Question Id : 630680271237 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| o BOOS oS (General Atlantic)

. 2E T2 (Microsoft)

3 . DD (IBM)



4w 36,26 B> (Berkshire Hathaway)

Question Number : 36 Question Id : 630680271237 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Indian-origin Ajay Banga, who has been appointed as the next president of the World Bank, has worked for which of the

following companies?

Options :

1.« General Atlantic

2. % Microsoft

3 & IBM

4 5 DBerkshire Hathaway

Question Number : 37 Question Id : 630680271238 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shehan Karunatilaka, who received Booker Prize 2022, is from which of the following countries?
Options:

1.+ SriLanka

2 % Myanmar

3. % Indonesia



4 5 Malaysia

Question Number : 37 Question Id : 630680271238 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

mommﬂéﬁ
2. %

3. % oS Haair

4 5 S0T05

Question Number : 38 Question Id : 630680271239 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following places did Prime Minister Narendra Mod! hold a meeting with Russian President Vladimir

Putin at the Shanghai Cooperation Organisation (SCO) summit held in September 2022
Options :

1. & Moscow

2 s Tehran

3.« Samarkand



4. % Ulaanbaatar

Question Number : 38 Question Id : 630680271239 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 630680271240 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1w GRoeb 2022

5y Dddoexd 2022

eoEead 2022
3. £



4 o PRowb 2022

Question Number : 39 Question Id : 630680271240 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In which of the following months was the 77% session of the UN General Assembly (UNGA 77) held?
Options :

1. % December 2022

2. % November 2022

3. 5 October 2022

4. September 2022

Question Number : 40 Question Id : 630680271241 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In May 2023, Nepali Sherpa Kami Rita Sherpa, made a record by climbing Mount Everest for the .
Options :
1 s 25Mtime

5> s« 26Mtime

R4 278 time



4 5 28T time

Question Number : 40 Question Id : 630680271241 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % 25 0

2 ¢ 26 6

3. o« 27 o6

4w 28 6

Question Number : 41 Question Id : 630680271242 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2023, which of the following companies launched a chatbot called Bard?
Options:

1« Google

2. % Microsoft



4. % Amazon

Question Number : 41 Question Id : 630680271242 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

202365, So0& aeedes e (Bard) e oeederesan 2 €0 Ardodotlod?
Options :
1« (e (Google)

2EID (Microsoft)
2. % ]

3, DDA (IBM)

4 @202 (Amazon)

Question Number : 42 Question Id : 630680271243 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the Indian government's Massive Open Online Course (MOOC) platform, which provides

educational opportunities for a vast number of university and college learners?
Options :
1w SWARAJYA

> « SWAYAM

3 » SWADHIN



4 » SVAAVALAMBAN

Question Number : 42 Question Id : 630680271243 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

- NN (SWARAJYA)

5 2o (SWAYAM)

L, 0D (SWADHIN)
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Question Number : 43 Question Id : 630680271244 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In February 2023, who was given a demo of the Digital India Mobile Van for enlightening citizens about G20 DEWG at
the Sushma Swaraj Bhawan (Delhi)?

Options :

1 & Manoj Kumar Singh

2. % Alkesh Kumar Sharma



« Amitabh Kant

4. % RaviBanal

Question Number : 43 Question Id : 630680271244 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1 % S0ODE L6 oh

5w E_ﬂejbc‘?j &30 30

3. 930TPE) SPo

4. % O e

Question Number : 44 Question Id : 630680271245 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a self-regulatory body for publishers of news and current affairs across India that was

approved by the Union Ministry of Information and Broadcasting?
Options :

1 » JEEVAN

5 » VISHNU



3 » RAMA

4« PADMA

Question Number : 44 Question Id : 630680271245 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| . &55 (JEEVAN)

D (VISHNU)

. ="

3 & 00 (RAMA)

4 eI, (PADMA)

Question Number : 45 Question Id : 630680271246 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a correct statement about Strengthening, Upscaling and Nurturing Local Innovations for
Livelihood (SUNIL) Programme?

A. Technological Advancement for Rural Areas (TARA) programme was designed to provide long term Core
support to S&T enable voluntary organisations working in rural and deprived areas to provide appropriate
technological solutions and delivery.

B. In 2020, the TARA programme has been evolved as SUNIL programme aiming to strengthen technology delivery

system and creation of social enterprise models for Economically Weaker Section (EWS) of society.

C. Under this scheme, the 56 S&T driven core support groups (CSGs) were supported to address specific challenges
in identified regions across the country

Options :

1 5 OnlyA

2. % BothAandB

3 5 OnlyB

4.+ BothBandC

Question Number : 45 Question Id : 630680271246 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A Do"g»

2 % A 20daiv B en Do

3 Bargd

4.+ B 20boin C en Socire

Question Number : 46 Question Id : 630680271247 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about the fundamental Right to Education?

A. The Constitution (Eighty-sixth Amendment) Act, 2002 inserted Article 21-A in the Constitution of India which
deals with the Right to Education.

B. This article is related to providing free and compulsory education for all children in the age group of six to

fourteen years as a Fundamental Right.

Options :



. OnlyA

Only B

3.+ BothAandB

4.y None of the options

Question Number : 46 Question Id : 630680271247 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
308 S D08 TP owR S D Rorodod) JB Hao?
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2. % B arg

3.« A bdaiv B en Godir
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Question Number : 47 Question Id : 630680271248 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Hindu Minority and Guardianship Act was passed in which of the following years?

Options :

1 ¢ 1956

Question Number : 47 Question Id : 630680271248 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
STOCT OB DBOID VOBLSB] B0 806 ) PDBToS” sATGOIIEE?

Options:

1 v 1956

5 & 1957

3 5 1958

4 s 1959

Question Number : 48 Question Id : 630680271249 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is NOT true about the Protection of Children from Sexual Offences Act?
A, Protection of Children from Sexval Offences law was passed in 2012,

B. This act was enacted to protect children aged less than 8 from sexual assault sexual abuse, sexual harassment,
and pornography.
Options :
1 % Only A

> « OnlyB

3 % BothAandB

4. None of the options

Question Number : 48 Question Id : 630680271249 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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(20003 & o trTodocsetod.
Options :
A Soeei0

1. %

, » Bargd

3 x A 20daiv B en Do



4w odoadees” D& o

Question Number : 49 Question Id : 630680271250 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to the regulatory measures taken by the Central Government for the

prevention, control, and abatement of air pollution in the country is NOT true?

A. SAMBHAV app has been launched wherein air quality information is available to public along with provision for

registering complaints against air polluting activities.

B. The Central Government has notified a Comprehensive Action Plan (CAP) in 2015 identifying timelines and
implementing agencies for actions identified for prevention, control and mitigation of air pollution in Delhi and
NCR

C. The Central Government has launched National Clean Air Programme (NCAP) under the Central Sector ‘Control
of Pollution’ Scheme.

Options :

1 5 OnlyA

2 « Aand B

3 5 OnlyB

4. % BandC

Question Number : 49 Question Id : 630680271250 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % A Do"g»

2 « A 0boin B

5, Bargd

4 % B awboin C

Question Number : 50 Question Id : 630680271251 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As of May 2023, under the Pradhan Mantri Shram Yogi Maan-Dhan Yojana (PM-SYM) (Old Age Protection), after

attaining the age of 60 vears, beneficiaries are entitled to receive a minimum monthly assured pension of
Options :

| 4 6,000

5 4 %5.000



. 74,000

4 v 3.000

Question Number : 50 Question Id : 630680271251 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

a0 2023 O3, ) aDof) 3an AIFH APD-¢5D dirad (PM-SYM) (aag:)ﬁ 200553) d00, 60 v 00RDY N
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Options :
1 & 36,000
2w 5,000

3 » 4,000

4 v 33,000

Question Number : 51 Question Id : 630680271252 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following pairs are correct?

Pair (Common Name of the vitamins | Scientific Name

A Vitamin C Phytonadione
B Vitamin D Calciferol
C Vitamin E Tocopherol
D Vitamin K Ascorbic acid

Options :

1. % Aand B

2.« BandC

3 ¢ CandD

4. % Dand A

Question Number : 51 Question Id : 630680271252 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



S0d) 2e80e5” DA DDHO?

26 | DOIDDO JTCE TFV0 | FTRAD D00

A [Ded0d C DA

B |[Ded0dD 5Oy S

C [DeodE 5 F0EeS

D [DedndSK @%ﬂ&ﬁgé e300
Options :

1« A aobosn B

2 « B awdain C

3 % Candoin D

4 % D 208ain A

Question Number : 52 Question Id : 630680271253 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following National Parks with the states they are located in.

Name of the National Park State

A |lim Corbett National Park |1 | Uttarakhand

B [Kaziranga National Park |2 | Assam

C |[Kanha National Park 3 | Madhya Pradesh




Options :

| v A-1,B-2,C-3

3 x A3.B-1.C2

. =

4y A2.B-1.C3

.

Question Number : 52 Question Id : 630680271253 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
30 FAOH FH)OWD B &I) TPFOFT 2BBODE.

2P i}"mb 0 oo

T

—

A [0 550,65 ardab a0, T ot

B |gecor ardiah .%“m& 2 @5“:]0

C sz 28305 i)vmgj 3 | 663

Options :

| v A-1,B-2, C-3

5 » A-2,B-3,C-1

3 » A-3,B-1,C-2

4 % A-2,B-1,C-3



Question Number : 53 Question Id : 630680271254 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following mines with the states they are located in.

Mines State

A | Kollur Mine 1 | Karnataka

B |Hatti Gold Mines |2 | Andhra Pradesh

C |Sonbhadra Mine |3 | Uttar Pradesh

Options :

| » A-1.B-2.C-3

. ="

Question Number : 53 Question Id : 630680271254 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



308 (RVLD 9D &) TaPOl BSDCS0C.

(iaoen U":%o
A [Serb (1D 1| sgees
B s edorrdd (icoen 2 | 206007
C |[Foeags 1D 3 | eaond?
Options:
1.« A-1.B-2,C-3

5w A-2,B-3,C-

3 A-3,B1,C-2

4 v A-2,B-1,C-3

Question Number : 54 Question Id : 630680271255 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following government schemes in chronological order as per the year in which they were launched.
A, Janani Shishu Suraksha Karvakaram (JSSK)
B. Rashtriva Kishor Swasthya Karyakram (RKSK)

C. Rashtriya Bal Swasthya Karyakram (RBSK)

Options :

2.x BAC



3« CAB

4.+ ACB

Question Number : 54 Question Id : 630680271255 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 DI DETOW FPEoDODD DODBG0 VP00 FVEAPFCOTP DGYOE.

A. 25D 90 0dE seGggao (JSSK)
5 O )
B. Tmg0m &6 &5‘&5 sroggavo (RKSK)
5 »
C. U‘@DCD ereS 5“5%)5 seojgao (RBSK)
Options :

A B.C

1. %

5 » BLAC

4 v AC B

Question Number : 55 Question Id : 630680271256 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following government schemes in chronological order as per the year in which they were launched.
A. National Goitre Control Programme
B. MAA (Mothers’ Absolute Affection) Programme for Infant and Young Child Feeding

C. National Programme for Prevention and Control of Fluorosis (NPPCF)

Options :

2.« BAC

3.« CAB

4 v BCA

Question Number : 55 Question Id : 630680271256 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
306 PR DETVR 9D Fo0DoDED VoDBVT0 P00 FOLATFRFCOT B00Y0C.

A. 2805 TPone6 (BTPonE (o DBocsco &) oy a7:Y) Hoboges SGjEv0
B. MAA (8eno 2oirg Havémm 3302 D0dain DY) VYR Lo g0 S0 E00

C. FBHD aroes aodoi datoges Exo apdan s°6jgao (NPPCF)
Options :
1« AB.C

5« BAC

3.8 &AB



4 v B.CA

Question Number : 56 Question Id : 630680271257 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following sugars as per their sources in which they are found in abundant quantity.

Sugar Source

A |Fructose 1 | Honey

B |Lactose 2 | Milk

C |Sucrose 3 | Sugarcane

Options :

| v A-1,B-2,C-3

5 A2.B-3,C-1

3 ¢ A-3,B-1,C-2

4y A2.B-1.C3

Question Number : 56 Question Id : 630680271257 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Sod £55) 0050, D VAT 6D 7 QUL PS°00 RGBBOIC..

55)6 QP00
A pES 1 &5
B pr8a 2 e
C Fofs 3 DL

3 » A-3,B-1,C-2

4w A-2,B-1,C-3

Question Number : 57 Question Id : 630680271258 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S0d) 20BNV, TS Dodd V0 S0 BESLIiDoC..

20t 200
A |8 1 o) b
B |esfod 2 | 2wed)
C |weon 3 ﬁgﬁﬁé
Options :
A-1, B-2, C-3

1. %



, v A-3,B-2,C-1

3 A-3,B-1,C-2

4w A2,B-1,C-3

Question Number : 57 Question Id : 630680271258 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following animals as per the phylum they belong to.

Animal Phylum

A |Mosquito |1| Annelida

B |Octopus |2[ Mollusca

C |Leech 3| Arthropod

Options :

A-1.B-2,C-3

5 v A-3,B-2,C-1

3 x A3.B-1.C2

4y A2.B-1.C3

Question Number : 58 Question Id : 630680271259 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following nutrients as per their sources in which they are found in abundant quantity.

Nuftrients Source

AlOlive |1| Protein

B|Egg

| ]

Carbohydrates

C|Banana |3 Fatty Acids

Options:

A-1,B-2,C-3

5 A3.B-2,C-1

3 v A3.B-1.C2

4w A2,B1,C3

Question Number : 58 Question Id : 630680271259 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

208 Taomros, ed DA Do sSoTrerrTredd addaiod.

Fsen S0PO0
A 5D 1 | TS
B o 2 | =B arEen
C [p906) o 3 ?@5 e3:07°e1)




Options :

A-1, B-2, C-3

1.

5 4w A-3,B-2 C-

3 v A-3,B-1,C-2

4 A-2,B-1,C-3

Question Number : 59 Question Id : 630680271260 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following cyclone in chronological order as per the year in which they were formed and hit India.
A. Fani
B. Amphan

C. Asani

Options :

1.« CBA

2.« ABC

3.4 BCA

4.« CAB

Question Number : 59 Question Id : 630680271260 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 GOFRRD B IOVE, ZPOSETYY TFED W0IBYI0 P00 O TOZAFPO0T OO

A. 26l
B. Eﬂ&‘l}gﬁ

C. 09D

Options:
C,B. A

1. %

5 v AB.C

Question Number : 60 Question Id : 630680271261 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kalpana-1 was the first dedicated meteorological satellite launched by the Indian Space Research Organisation using a

Polar Satellite Launch Vehicle in which of the following years?
Options :
1.« 2002

5> & 2003

3. % 2004



4 & 2005

Question Number : 60 Question Id : 630680271261 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

308 o) dode\008" FD P FEP0E EDFo SOYT-1R Terd THPE erod PESD EDcIr0d 768
0906808, 0TGP “'n)o}g RArAocod?

Options :

1 v 2002

5> 5 2003

3. 5 2004

4 s 2005

Question Number : 61 Question Id : 630680271262 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In May 2023, cyclone Mocha was formed from which of the following seas/bay?
Options :
1. % Andaman Sea

2 % Arabian Sea

3  Bay of Bengal



4. % South China Sea

Question Number : 61 Question Id : 630680271262 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 2023°, 808 & KeSngo/®areo ok P gD HSYGoR?
Options :
05T a0

1. %

5 g 20D Dawdo

3. EIOTT % AT €50

& o
4y G&8 BT DADGO

Question Number : 62 Question Id : 630680271263 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

National Disaster Response Force (NDRF) comes under which of the following ministries?
Options:
1 » Ministry of Environment, Forest and Climate Change

5> « Ministry of Home Affairs

3 5 Ministry of Jal Shakti



4. 5 Ministry of Defence

Question Number : 62 Question Id : 630680271263 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
20D DDA PAOYGD eocso (NDRF) 808 2 doda 78 30658 H006H?

Options :

E]D"FSEC}CSE'&_. £96)2) B0 TFTEOG IlJ“CiJ;jE'_J &1)03‘39:’95 T

(s DfDDFT"L 0B T°D

20 3G 0oBaq T

o =) mo@@g E=EED)

Question Number : 63 Question Id : 630680271264 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Central pollution control board was established in which of the following years?

Options:

1. 1974



4. w 1977

Question Number : 63 Question Id : 630680271264 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 2 0SB0 Sog SNy DO dVOED FDosEICEod?

Options :

1 v 1974

5>« 1975

3 . 1976

4w 1977

Question Number : 64 Question Id : 630680271265 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 2 oI008, YIS0, "rlofle), 893 B Satco 7 EG0" I By, AT ol FEEAFD)
@”{joeﬂoa"m?

Options :
1.+ 2014

5w 2015

3« 2016



4y 2017

Question Number : 64 Question Id : 630680271265 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following years, prime minister said, "It’s my destiny to serve Maa Ganga" and launched the Namami
(Gange programme?

Options :

1. ¢ 2014

5> % 2015

3 & 2016

Question Number : 65 Question Id : 630680271266 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following initiatives of the government of India in chronological order as per the year in which they were
launched.

A. Green Skill Development Programme (GSDP)
B. Swachh Bharat Abhiyan

C. Nagar Van Scheme

Options :



2.2 CBA

3.2 CAB

4.+ BAC

Question Number : 65 Question Id : 630680271266 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
$0b P08 Y0 CIVS) TEZATOD, BD Dot 000 HE°00 SOEATFRT OO ©R0Y0C.

A B S Cdvd08s Jread (GSDP)
B. “‘:oscﬁb ZPOD 3803~

C. 316 R DESo

Options :
A B, C

1.

2. & B A

4 v BAC

Question Number : 66 Question Id : 630680271267 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LED 0 L0005 SO 05 .50 CFC aong), DR P00 JD?



Options :

1 % T@ﬁéﬁjgﬁﬁf S“Cialr‘gl_'l

5 STTE =0y

 BEDTz0ES
3.8 2 =

4w 200STT 526y Den

Question Number : 66 Question Id : 630680271267 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of CFC which is one of the responsible factors for ozone layer depletion?

Options :

1. % Calbomfluorocarbons

2.« Chlorofluorocarbons
3. % Chlorofluorochemicle

4. % Centralfluorocarbons

Question Number : 67 Question Id : 630680271268 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

58 DEFORE] DDA DD 700D S0 D BFoeS” AHIR?



Options :

4. % ®9a005e

Question Number : 67 Question Id : 630680271268 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The 5™ UN Environment Assembly concluded in which of the following countries?
Options :

1 « Kenya

2. 3% South Africa

3. Canada

4. % TheUS

Question Number : 68 Question Id : 630680271269 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DOj0E M: D DD JoiE0s GINAHHD'D &Y HEbEe S0 I Voo’ FoDodod?

Options :



1« 2020

5 5 2021

3w 2022

4w 2023

Question Number : 68 Question Id : 630680271269 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Paryavaran Mitra; A Citizen Engagement Initiative’ was launched by the Delhi government in which of the following

years?
Options :

1 % 2020

5w 2021

3. ¢ 2022

4w 2023

Question Number : 69 Question Id : 630680271270 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

d0d aes” 2022 DETRGING TR APi Adrio do UNFCCC g é)‘*gu A 2 G0’
20006 ?

Options :



1. & ©9005e

Heeda)
&

gary

4w S0T0sr

Question Number : 69 Question Id : 630680271270 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 2022 United Nations Climate Change Conference or Conference of the Parties of the UNFCCC was held in which

of the following countries?
Options :

1. % TheUS

5> « Egypt

3 Russia

4 5 Malaysia

Question Number : 70 Question Id : 630680271271 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Rana Pratap Sagar Dam over the Chambal River is located in which of the following states of India?

Options:



,, Madhya Pradesh
5> « Rajasthan

3. % Uttar Pradesh

4 Harvana
. -

Question Number : 70 Question Id : 630680271271 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
302385 AP € TEF PID 10 e5:988) ePCHBF0S D) 2 T°e” &od?

Options :

mﬁéﬁgé%

Question Number : 71 Question Id : 630680271272 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the India State of Forest Report 2021, which of the following states has the highest forest cover?

Options :



1 & Rajasthan

2. 3 Jharkhand

3 Madhya Pradesh

4 Chhattisgarh
. e =

Question Number : 71 Question Id : 630680271272 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ZPOBEs 0D DO 2021 P50, 300 A" D T’ BBIHE D DYJo &od?

Options :

TPaLro
o

1. %

dardodcs
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2. #

3 ¢ m@&@a%

4 SODGE
. e —-=

Question Number : 72 Question Id : 630680271273 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Keibul Lamjao National Park is located in which of the following northeastern states of India?

Options :



1. & Assam

2 % Sikkim

3 Nagaland
. =

4. Manipur

Question Number : 72 Question Id : 630680271273 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Se08 TraTS ANDS 36) wrCBBFS D 80d D TR TS &od?
Options:

1 % E'_‘Jf)":j[:l

5 . ‘?aébo

3 g ~FTTETOL

4 v 6

Question Number : 73 Question Id : 630680271274 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& WY EETDEY’ BFTORR SYardo SOR0T S0 <) VoIt TGS SO0 DG DoziDocdod?

Options:



1w 2012

5> & 2013

3. ¢ 2014

4w 2015

Question Number : 73 Question Id : 630680271274 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following years did the Kedarnath flood disaster take place due to an umusval amount of rainfall in

Uttarakhand in the month of Tune?

Options :

1 % 2012

5> « 2013

3 5 2014

4w 2015

Question Number : 74 Question Id : 630680271275 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is INCORRECT as per the Census of India 2011?
A. Meghalava had the lowest population.
B. Kerala had the highest sex ratio.

C. Kerala had the highest literacy rate.

Options :

1 OnlyA

2. % BothAandB

3 4 OnlyB

4. x BothBandC

Question Number : 74 Question Id : 630680271275 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 2»08 amrer G5) 0 5700 208 Te3e5" DOTED DELD DH?

A. Donreoies’ QISR BT SO
B. S0veS° eae9y&S Dort D@ SO,

C. Bowed’ oBIHE LTS e SO
Options :

v Adre

2 % A 20daiv B en Docirw

3 Bargd



4. % B &0bain C en Sodir

Question Number : 75 Question Id : 630680271276 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is INCORRECT as per the Census of India 20117

A. Uttar Pradesh had the highest population density.
B. Bihar state had the highest population.

C. Haryana state had the lowest sex ratio.
Options :
1y OnlyA

2.« BothAandB

3 5 OnlyB

4. x BothBandC

Question Number : 75 Question Id : 630680271276 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 &r08 arer G5)© D500 300 TS DO HEOD IB?

A. £B00RBTS” IS BITF0BG S
B. D386 Teoes” OOE BT SO

C. sroejer Teod” o) 8530 Dorf DS Soc.



Options :

A SrEaD
e

2.« A 0bBaiv B en Bocir

5, Bared
. e

4. % B s0boiv C en Docire

Question Number : 76 Question Id : 630680271277 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following states, which of the following states had the lowest literacy rate as per the census 20117

Options :

., Madhya Pradesh
2 Haryana

3. Karnataka

4.+ Rajasthan

Question Number : 76 Question Id : 630680271277 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 UDQW@", 2011 arrer 980 J5°00 $08 Dﬁgﬁoﬁ 26 0[Oy OETPR(O B £BA cod?



Options :

DOCS[DET
1. %

B:J““U“ZSE'H“
2. %

Soetas
3.m &

TPaLro
4. ®

Question Number : 77 Question Id : 630680271278 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the sex ratio of India as per the 2011 Census?
Options :

1« 943 females per 1000 males

2 5 950 females per 1000 males

3 5 200 females per 1000 males

4 5 970 females per 1000 males

Question Number : 77 Question Id : 630680271278 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 agree E-jéyu Fe)=slelelrALlaTaL:l) DEJJQE] Dors :}11:]339 Does?



Options :

- 1000 2008 3PP 943 200d e

, 1000 5008 napoH 950 s0od ew
. we —

, 1000 2008 D@L 960 200d e

. 1000 006 P 970 s0od ew
. B =

Question Number : 78 Question Id : 630680271279 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the correct pair as per the information given below.

Power Station States they are located in
A | Amarkantak Thermal Power Plant | 1 | Madhya Pradesh
B | Chandrapur Thermal Power plant | 2 | Uttar Pradesh

C | Anpara Thermal Power plant 3 | Maharashtra

Options :

| v A-1,B-3,C-2

5 A3.B-2,C-1

3 x A3.B-1.C2

4y A2.B-1.C3



Question Number : 78 Question Id : 630680271279 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
E5t1sd e90H0L)R LATFETCU0 500 W0 2680 a2ddoibod..

206 [N 298 gvﬁ:oemaa oirels
A | 065005 GOLES D06 grots |1 | 0B
SoBIPE GOLE D6 ot 2 | aao 0O
C | oryo° G068 D6 arot5 3 | odfor
Options :

| v A-1,B-3,C-2
5 » A-3,B-2,C-1

3 A-3,B-1,C-2

. =

4 A-2,B-1,C-3

.

Question Number : 79 Question Id : 630680271280 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RBI eroéion Uﬁ“a w0 jolens 2021-22 0o, 20833 GDPS U“il“@ RS0 5700 S0 TPaPOR)
(S o 08 B[ FO03 BV0YC. -

A TPar
@
B. anwrrdd

C. pozre)



Options :

A, D.B, C

1.

, « B.D,AC

5« ABCD

4 v BACD

Question Number : 79 Question Id : 630680271280 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the RBI Handbook of Statistics on Indian States 2021-22, arrange the following states from highest to

lowest as per their contribution to India's GDP.
A Rajasthan
B. Tamil Nadu
C. Punjab
D. Tripura
Options :
1.« ADBC

2.« BDAC

3« ABCD

4.«v BACD



Question Number : 80 Question Id : 630680271281 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 SEPORD 9D BSATHOLRICD DODENTD PF°60 TVEITFCOTP 9DCY0E.

A. ePOf DT A 0
B. Dferorne T.Jﬂé%u €380

C. ardan e300 HET° 380
Options :
A. B, C

1.

5 v A.C.B

3.x OB A

4.% B.AC

Question Number : 80 Question Id : 630680271281 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following acts in chronological order as per the years they were passed.
A. Child Marriage Restraint Act
B. Rights of Persons with Disabilities Act

C. National Food Security Act

Options :



2.« ACB

3.2 CBA

4.« BAC

Question Number : 81 Question Id : 630680271282 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B P Jomw Sa0ED3 svbatn @iydE &) TaFo (30gkBe rododf W) roren, Mo G
2GR m%maé A mwsoﬁoeﬁﬁid 308 2 edLt0 3“62))0&53) BOTTUR) B0B000?

Options :

1« V560 3

2 5 RS0 4

3 5 OSCE0 b

4 ¢ O8G0 8

Question Number : 81 Question Id : 630680271282 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Constitution of India provides the Parliament to form new States and alter the

areas, boundaries, or names of the existing States (which includes Union Territory)?

Options :

1.« Article 3



2. g Atticle 4

3. ¢ Article 6

4. w Article 8

Question Number : 82 Question Id : 630680271283 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aol ] U“Hﬂéoﬁo?ﬁii} 206 ) eaIDECR0 TP DoTraiede) “&:ro?é}]éj oeotot)ob?
Options :

eaE0e0 35

1. %

2 g OSCE0 39

3 « 90500 40

4w OOECE0 44

Question Number : 82 Question Id : 630680271283 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution deals with the organisation of village panchayats?
Options :

1. % Article 35



2 s Article 39

3.« Article 40

4. w Article 44

Question Number : 83 Question Id : 630680271284 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following political parties as per the seats won by them in the Karnataka assembly election held in May
2023.

A. Bharatiya Janata Party
B. Indian National Congress
C. Janata Dal (Secular)

D. Kalyana Rajya Pragathi Paksha

Options :

1« ABCD

> v BACD

3« DACB

4.« DBAC

Question Number : 83 Question Id : 630680271284 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

ey

20 2023¢° 260 o 08 97208) 20 88 300 TS PGy e 1O ) 5700 0006,
A. ZPOAEDH 2o g
B. ardes aredoh) SofD
C. adwrad (Aeod)
D. Sweges Toaa] 08 4
Options :

A,B.C,D

1.

, v B.AC,D

5« DA CB

4. DBAC

Question Number : 84 Question Id : 630680271285 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 pERE B 2BNO TE?

A. By 13, ¢Borf o) © dirafos) chReRd GRS Garols Sar TP Bids o ot
(507} 05%0 G0RE B Agoxecdod.

B. QU"é}bKJo@G w08 o wjodurd (CUl) odozan Y ot @bty jodaurden Roaod 828 §°6,
S 6dogs 2365, PS Sooiz bty Srar Eepen &) 0.

C. eB0to 273 Traforio dRug), D3GR MotoBotkd B0iod” S0 DD ARG Fdn
dober=d.

Options :

| . Aargd



2. % B &rgao

4. % B &0bBain A en Boclr

Question Number : 84 Question Id : 630680271285 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct?

A. On March 13, the Supreme Court decided that a bunch of petitions demanding legal validation for same-sex

marriages will be decided by a constifutional bench.

B. The bench will comprise Chief Justice of India (CTI) Dhananjaya Y Chandrachud, and justices Sanjay Kishan
Kaul, S Ravindra Bhat, PS Narasimha, and Hima Kohli.

C. Article 273 lays down cases that involve a substantial question of law in a matter relating to the interpretation of
the Constitution should be heard by at least five judges.

Options :

1 OnlyA

5 4 OnlyB

3 ¢ OnlyC

4. » BothBand A



Question Number : 85 Question Id : 630680271286 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following states as per their number of Rajya Sabha seats in highest to

lowest order.

A. Andhra Pradesh
B. Arunachal Pradesh
C. Assam

D. Bihar

Options :

1« ADCB

> v DACB
3« DABC

4 &+ BACD

Question Number : 85 Question Id : 630680271286 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

800 TEPORD T8 TR D) 08 BTPCOT JE)D 06 BEY HED VGG,

A e50G3003

B. eaDErcie) BT
C. o

D. 356

Options :



A.D C,B

, v D,ACB

3 D.AB.C

4. BACD

Question Number : 86 Question Id : 630680271287 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of May 2023, who is the deputy Chief Minister of Maharashtra?
Options :

Supriva Sule

1. %

5> » RR Patil

3 Ajit Pawar

4. + Devendra Fadnavis

Question Number : 86 Question Id : 630680271287 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
an 2023 s, DTy & Dnafaodd Jod?

Options :



A0 FIPE

2 5 €36e30 areeded

3 5 9238 Db

4V BDOG DEY DD

Question Number : 87 Question Id : 630680271288 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements about Directive Principles of State Policy is INCORRECT?

A. Article 50 says that the state shall endeavour to protect and improve the environment and safeguard the forests

and wildlife of the country.

B. Article 49 says the State shall take steps to separate the judiciary from the executive in the public services of the
State.

C. Article 51 deals with the Promotion of international peace and security.
Options :

1y OnlyA

2.« BothAandB

3. % BothBandC

4 5 OnlyC



Question Number : 87 Question Id : 630680271288 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
0 DI AFaS A B0 S0 PELILS” M6 JB?

&)
A. eSdto 50 P50, T WTOLFR) G0diteS dudakd AMrDHGSEDS dndaf B3085°D e
206010 PRV 6£05C=N3 HADA) 0D,

B. edstio 49 P5to Ty e hI) SRRSO od. TR ) oS Ty R
BRu0800.

C. 60560 51 osTa Foid S0801 Hesed JFeirgnod.
Options :
1 g ADFED
2.« A 0Boiv B ew Bocir

3. % B s0dain C en Bodir

4. % C dorga

Question Number : 88 Question Id : 630680271289 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of May 2023, how many states in India have Legislative Councils?
Options :
1. # Five

2« SIX

3. 5 SEVEn



Eight
% g

Question Number : 88 Question Id : 630680271289 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
20 2023 T3, wroBD0S” DY Togren TN DociDorn §9A &) on?

Options :

1. & 6O

4w DDA

Question Number : 89 Question Id : 630680271290 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following states from newer to older as per their years of foundation.
A. Andhra Pradesh
B. Arunachal Pradesh
C. Assam

D. Manipur

Options :

1.+ BDAC



2.« ABCD
3.2 DCBA

4w CBAD

Question Number : 89 Question Id : 630680271290 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 TEPrOR T8O BDT7)D VoINTL P00 TG Dol e H0L 00\l

A. 800033
B. eathrroed DA%
C. E‘.E?ﬂ“:]o

D. a0e3070
Options :
1.« B.D,AC
2« A.B.CD

3 % D.C B A

4+ C.B.AD

Question Number : 90 Question Id : 630680271291 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECT about various teligious movements in India and their years of foundation?
A. Brahmo Samaj - 1861
B. Arya Samaj - 1875

C. Prarthana Sama - 1867
Options :
1« OnlyA

2 % BothAandB

3 5 OnlyC

4. BothBand C

Question Number : 90 Question Id : 630680271291 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

800 8’ EPOBHF0SD DG STV Gesjared Q0o T+ BITR)D DoddYTR HBod) SRYYT &) 28
987 |

A. iy darao - 1861
B. udﬁ‘ama&o - 1875

C. @;g:{n darao - 1867
Options :

v Adre

2 % A 20daiv B en Dociw



3 Caorgd

4. % B a0bain C en Sodir

Question Number : 91 Question Id : 630680271292 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct?
A. Vivekananda spread Ramakrishna’s religious teachings to a wide audience.

B. In 1867, Keshab Chandra Sen helped Atmaram Pandurang create the Prarthana Samaj in Bombay.
Options :
1 OnlyA

2 « BothAandB

3 5 OnlyB

4 5 None of the options

Question Number : 91 Question Id : 630680271292 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
308 DELHVE" JB/ID 0N/ 20307

A. DD, TR T &8 560 DYB DEDVD T§) T,

B. 1867¢, G463 ciogy D eFoerane” @;gm P Qﬂi}omoeﬁ" ST TP 000N WiFaN0 T,

Options :



. A g

2« A s20daiv B en Docirw

3. % B argao

4 5 oowdee” D& sPd

Question Number : 92 Question Id : 630680271293 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DD P OO 9D BATBOSIE VoDBYTVD DoeroBod) 208 BoLwe” VBT IB?

A. ngum @r‘()dcsﬁa‘)?géma 3650 - 1956

B. ere) a3t e oo - 2006

C. g romre (méﬁséaﬁgéﬁm} <360 - 1961
Options :

o A DTS
2. % A 0daiv B e Bocir

3. % B a0daoin C en Bocir

4 v Cargd

Question Number : 92 Question Id : 630680271293 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECT about various acts and the vears in which they were passed?
A, The States Reorganisation Act - 1956
B. The Prohibition of Child Marriage Act - 2006

C. The North-eastern Areas (Reorganisation) Act - 1961
Options :
Only A

1. %

2. 3 BothAandB

3. % BothBandC

4 Only C

Question Number : 93 Question Id : 630680271294 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When was Morarji Desai sworn in as the Prime Minister of India?
Options:
2. % 1969

3 & 1971

4.« 1977



Question Number : 93 Question Id : 630680271294 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
POBBE HTHDRT DT BF05 JENYED DT (S G0 FTED?

Options :

1w 1967
5w 1969

3 . 1971

4 v 1977

Question Number : 94 Question Id : 630680271295 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
30 P 2r00B3 e TPROBILD 0B TP TP DN Todd NI YE00 AGE) 28 JO?

A. 507330 Dogs A - 1969
B. S0 03 0 - 1977

C. Aafrd 36 wof - 1979
Options :

A S0
e

2 % As0daiv B en Bocw



3 » B a0doiw C en Sociyw

4 v C g

Question Number : 94 Question Id : 630680271295 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECT as per the past presidents of India and the vears in which they resumed

the office of president?
A, Varahagiri Venkata Giri - 1969
B. Neelam Sanjiva Reddy - 1977

C. Giani Zail Singh - 1979
Options :

Onlv A
% )

2. % BothAandB

3. % BothBandC

4 Only C

Question Number : 95 Question Id : 630680271296 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



DEFA08 DADD T D0SSTTVD BRANDROT & 500 2708 S8 YTV EG ol rd 508
wa‘nd‘)od.

A. 0636 &:76 (0pS
B. $.9.30%0uk0r:)
C. dog 36

D. D36 pErd Rof
Options :

A C, B, D

1.

5 . D,C,B A

;v ABCD

4. D.CAB

Question Number : 95 Question Id : 630680271296 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following past Prime Ministers of India from newest to oldest as per the years in which they resumed the
Office of Prime Minister.

A. Inder Kumar Gujral
B. PV Narasimha Rao
C. Chandra Shekhar

D. Vishwanath Pratap Singh

Options :

1« ACBD



2.« DCBA

3« ABCD

4.« DCAB

Question Number : 96 Question Id : 630680271297 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is INCORRECT?

A. The Non-cooperation movement was a political campaign launched in September 1920.

B. The Jallianwala Bagh massacre, also known as the Amritsar massacre, took place on 13 April 1922,
Options:
Only A

1. %

2. % BothAandB

3 « OnlyB

4. s None of the options

Question Number : 96 Question Id : 630680271297 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



808 PELIVE’ DTG JO?

A. fad dorEoe ecidvo Dpoed 19208 Foodoceds Tadad Hirdo.

B. 2d0arererh dP0Eroc), @B el B Sr Dendrd, b 1922 Jn6 132 adhd.
Options :

A Soeesa

1. %

2. % A s0doiv B ew Socir

3 v B argn

4w oowdee” D& sPed

Question Number : 97 Question Id : 630680271298 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is INCORRECT?

A. Bhagat Singh, Rajguru, and Sukhdev were sentenced to death in the Lahore conspiracy case and ordered to be
hanged on 24 March 1928.

B. Salt March, also called Dandi March or Salt Satyagraha, major nonviolent protest action in India was led by
Mohandas Gandhi in 1930.

Options :

1 OnlyA

2. 3 BothAandB

3 4 OnlyB



4. None of the options

Question Number : 97 Question Id : 630680271298 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
800 pEhIE DO 6?7

A, 6 iy B8’ 516 Do, TADED 080t BV 0AS DBocitrcod nBos 24 278y 19289
09 66801r0d eddocncod.

B. &) airg, Gl 3@ T &) F|(iF0 0 SPT DD, LPOBEI0S" & Y earoF A6 30
19306 AmarReed ol deyeRod” abfiod.

Options :

v Adred

2 % A 20daiv B en Docirw

3. % B argad

4 5 oowdee” D& sPed

Question Number : 98 Question Id : 630680271299 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about the New Economic Policy of 19917
A. Dr. Manmohan Singh was the Prime Minister of India when the New Economic Policy of 1991 was introduced.

B. Pranab Mukherjee was the Finance Minister of India when the New Economic Policy of 1991 was introduced.
Options :

1.



Only A
% )

2. % BothAandB

Onlv B
% )

4. None of the options

Question Number : 98 Question Id : 630680271299 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 &S 1991 £ e505 Drado (DBoc) IO dao?

A. o= 05 Eed Poft 1991 89 508 DErard) PDTOHIDYED TS PEEAT &) 0.
B. 1991 §¢ &S Drrard) DTN Deeed S0DY ePCBTs BIPE D00 &) .
Options:

A Soreso
E

2. % Ad0bdaoiv B en Godir

5, Bared
. e

4« Doadees” D& 50

Question Number : 99 Question Id : 630680271300 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



300 " 1991 §¢ xS Depdo (ot IO zo?
A. 1991 8 &ﬁgé NEr0 ARe A0SR A69¢8000d bty Hedodld.

B. 1991 5 05 DEPR0 APT) R Doodon), P 0B DB EEFITERS Sonoe S8:30R DM
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Options :

| v Adrgd

2. % A 0doiv B ew Bocir

3. % B &rgao

4w doaders” D& sew

Question Number : 99 Question Id : 630680271300 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is true about the New Economic Policy of 19917
A. The New Economic Policy of 1991 liberalized and relaxed the import tariffs.
B. The New Economic Policy of 1991 regulated the markets and put stiff restrictions on private and foreign
multinational companies.
Options :

1 « OnlyA

2. BothAandB

3 % Only B



4. None of the options

Question Number : 100 Question Id : 630680271301 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rberDefo @B Aeyor drehey HPEIL dio, 1969 (MRTP <36) aaNey 20 canedod.

Options :

SFed oevo, 2005
1. & &3

S¥ed oevo, 2004
2. # £

SFed oeyo, 2003
3. = £

4 SFed <3&0, 2002

Question Number : 100 Question Id : 630680271301 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Monopolies and Restrictive Trade Practices Act, 1969 (MRTP Act) has been replaced by the

Options :
1 % Competition Act, 2005

2 % Competition Act, 2004

3 5 Competition Act, 2003



4. Competition Act, 2002

Question Number : 101 Question Id : 630680271302 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In2020-21, what was the approximate percentage share of Gross Value Added (GVA) of Agriculture and Allied Sectors

fo the total economy of India?

Options :

1 & 20.2%

25.2%

3« 18.2%

4w 16.2%

Question Number : 101 Question Id : 630680271302 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2020-21¢", aroesss 2ot s aigagej‘ aéaﬁmo 060 BRE06) Gorre 70 Denid &cowy (GVA) ool
A0 o Woth?

Options :
1.« 20.2%

5 . 25.2%

5 . 18.2%



4w 16.2%

Question Number : 102 Question Id : 630680271303 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following vears was the Twelfth Five-Year Plan implemented?

Options :
1.« 20122017
2. % 2013-2018

3 % 2014-2019

4w 2015-2020

Question Number : 102 Question Id : 630680271303 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 O DODBG0S” DY 065D DoBDG VEFVE eaen BSobertod?

Options :

1. v 2012—2017

5 & 2013—2018

3 5 2014—2019



4 » 2015-2020

Question Number : 103 Question Id : 630680271304 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 TOS” D HDoSHY PEFDSED TP HIED VT DOTF 26 SohecSa?

A. 200058 Dodd DEFPE - DfDIraD0
B. Tociad Dodag Deeds - JrOFD08508m

C. D6 DocsIG PEFPE - 26 AN Girerd OFOR
Options :

1. % A Do°gd

2 % A 20daiv B en Do

3. % B argao

4 doadees’ D& o

Question Number : 103 Question Id : 630680271304 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Five-Year Plans is NOT correctly paired with its main objectives?
A. First Five-Year Plan - Agriculture
B. Second Five-Year Plan - Industrialisation

C. Fifth Five-Year Plan - Indian National Highway System

Options :



. OnlyA

2. % BothAandB

Only B

4. None of the options

Question Number : 104 Question Id : 630680271305 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the Green Revolution was mainly led by whom among the following persons?
Options :

1 & Subrahmaniam Nagarajan

5> , DBenjamin Peary Pal

3.« MS Swaminathan

4y Hem Singh Pruthi

Question Number : 104 Question Id : 630680271305 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
POBBT0S’, TPOS DRI PIFIOT 808 HHOS” AW TFONLB0 DaroTTHd?

Options :
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2 5 0RO DO S
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Question Number : 105 Question Id : 630680271306 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When did the National Coal Development Corporation (NCDC) establish?

Options :

1. & 1947

5>« 1950

3 v 1956

4w 1971

Question Number : 105 Question Id : 630680271306 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2S00 57D 9D o (NCDC) DD Fr003eC0H?
i [ @ [

Options :



1. % 1947

5 & 1950

3 v 1956

4w 1971

Question Number : 106 Question Id : 630680271307 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S0l PO BATBOL LoDBNG0 V500 ared ok T HODH 9ED0N0C..

A. Y Seren oBon REFY Brfen (eerErTre DT E) Deo.
B. DSerorbe) (DA eds7Fren, ) © 656 003D 8 mﬁbﬂﬁngo} <38)0.

C. escrg) greasrasy DTS 3o
Options:

1« C.BA
5« AB.C

3« BAC

4 v C.AB

Question Number : 106 Question Id : 630680271307 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Arrange the following Acts from oldest to newest as per the year in which they were passed.
A. Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act.
B. The Persons with Disabilities (Equal Opportunities, Protection of Rights and Full Participation) Act.

C. Female Infanticide Prevention Act.

Options :

1 %« CBA

3.% BAC

4 v CAB

Question Number : 107 Question Id : 630680271308 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following schemes aims to provide affordable Health Insurance to persons with Autism, Cerebral Palsy,

Mental Retardation, and Multiple Disabilities?

Options :

1 » GHARAUNDA

> » GYAN PRABHA

3 » SAHYOGI

4 v NIRAMAYA



Question Number : 107 Question Id : 630680271308 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

400 Dol Dt Ser &3co, S0, DETND, AFIVS AFoc[in SOOI DL DECED &) HDE)
603 BB D) BoBoSTIS VEOT DAVLR) B 67

Options :

sodocc (GHARAUNDA)

1. %

- g 22 (GYAN PRABHA)

3 5 ~eecird (SAHYOGI)

4 v D005 (NIRAMAYA)

Question Number : 108 Question Id : 630680271309 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
800 PELRVY’ DTG DO

A. D8R0 (AP wIFTR, TP © 650 0B P ayﬁﬂﬂsméo] 0 19956° esarBocstacod.

B. 20rie) Soen Sco, duay, DETBAD, APANE APocEn OO HeY DEILD &) HDR 0Zo &0
QPR WS Y 19996° esardocseiod.

Options :

. Aargd

2« A s20daiv B en Docirw



3 Bargd

4w odoadees” D& sEen

Question Number : 108 Question Id : 630680271309 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?

A. The Persons with Disability (Equal Opportunities, Protection of Rights and Full Participation) Act was passed in
1995.

B. The National Trust for Welfare of Persons with Autism, Cerebral Palsy, Mental Retardation, and Multiple
Disability Act was passed in 1999,
Options :

1 & OnlyA

2 « BothAandB

3 4 OnlyB

4.y None of the options

Question Number : 109 Question Id : 630680271310 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following states according to the largest to the smallest percentage of Scheduled Tribes to the total

Schedule Tribe population in India per the 2011 census.
A. Maharashira
B. Rajasthan
C. Madhya Pradesh

D. Odisha
Options :

1 « CDBA

5> « DCAB

3 v CADB

4 » CDAB

Question Number : 109 Question Id : 630680271310 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 e 050 g5°do EPOB0 906 7) Ao RETS Brf SN S R0 S DEFGEY Brfe)

T00 P5°00 300 TEPOR 00Y0C.
A, oo
B. vrara
]
C. g3
D. alw

Options :

C.D.B, A

1. %



5 . D,C.A B

;v C.A DB

4 C.D,AB

Question Number : 110 Question Id : 630680271311 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct?
A According to Census Report 2011, tribes constitute 8.6% of India’s population.

B. The Constitution of India in Article 355 (25) prescribes that the Scheduled Tribes mean such tribes or tribal

communities as are deemed under Article 342 of the Constitution to be Scheduled Tribes.

Options :

1 OnlyA

2. % BothAandB

3 « OnlyB

4. 5 None of the options

Question Number : 110 Question Id : 630680271311 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



S0 pERRVE’ DB LTHB TEH?
A s 080 0S8 2011 Ps0o, 2083 arrerd 8.67 dod AdamED &) (.

B. ipoes TERorfo e9f)Ee0 355 (25)¢° Rzm_seg Arfen 9o UDaa*{Sorﬁoeis 2 wk5080 342 P00 EJC‘J%? A
w0Oridocied e S B NoxreD.

Options :
o ASrg

2. % A 0doiv B ew Bocir

5 v Bared

4w doaders” D& sew

Question Number : 111 Question Id : 630680271312 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Parul, Quresh, Riya, Sakshi, Tina and Veena are sitting in a circle facing the centre of the circle. Tina is not between

Qureshi and Sakshi but some other one. Parul is next to the left of Veena. Riya is 4o the right of Parul.

Which of the following Matches represents the correct combination?

Person Position
(a) Sakshi | (1) just next to the right to Riya
(b) Tina | (2) just next to the right of Veena
(c)Riya | (3)second to the right of Tina
(d) Parul | (4) second to the right of Riya

Options :

1.% a-4



2.8 b-2
3.% c-3

4, % d-1

Question Number : 111 Question Id : 630680271312 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5, 208, 0017, P2, 6 $0605 s &3P P00t SogrDanor &rany . B, anda dwdaw Fie

03] ST 0B e ol D0 BHTE e D) FHE God. MBS HEDD BALF 42 Qvaﬁoej‘ &od.

300 206" B AT SONED AFRA?

o8 R0
0]

(a) r& ) Bosreh S iy Dot 2

(b) e 2) D% DA DY) Dobid 29,9

(0o | (3) O D D) Boald

(d)arme | () 6o D D) Tocad

Options :
1.% a-4
2. % b-2
3.%c-3

4, % d-1

Question Number : 112 Question Id : 630680271313 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Poorvesh, Quran, Ramesh, Suresh, Tabish, Umar, Vipin, and Wang are seated in a circle facing the centre of the table.
Poorvesh is seated third to Wang’s right and third to Quran’s left. Suresh is the second to Tabish's right. Vipin is the

second to Ramesh’s left. Tabish is not a neighbour of Quran. Neither Tabish nor Wang is a neighbour of Umar.

Match the correct for position from following

Person Position
(a) Umar (1) is the second to Vipin's left
(b) Tabish | (2) just next to the right of Vipin
(c) Ramesh | (3) is the second to Vipin's left
(d) Poorvesh | (4) is the third to Vipin's left
Options :
1.¢ A-1
2. % B-2
3. C-3
4. % D-1

Question Number : 112 Question Id : 630680271313 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



5, o, B30, K05, SR, G5, NG B0 0T e Dad Soamweorr
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(a) &6 (1) DA% e e Bollared

(b) &9 (2) b ogm 96 08 3

(c) gaoR (3) D00 ke Piyed Bolared

() o | (4) 0D deeado Pigd arETo

Options :

1.« A-1

2_53 B_2

3_ 8 C_3

4.% D-1

Question Number : 113 Question Id : 630680271314 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What was the day of the week on 30t May 1998, if 3y anuary 1998 is Saturday?
Options:

1 & Sunday



> & Monday
3 5 Tuesday

4 Saturday

Question Number : 113 Question Id : 630680271314 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2.83% 23558 3, 1998 3AaE0 WONSVE, 30 2 19988 TEOSA ) F2 350087

Options :

1 & B88TE0
7 % TG0

3 % oNONFITB0

4.« BQTH0O

Question Number : 114 Question Id : 630680271315 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2385658 1, 200609 e38TB0. 236558 3, 201085 FB0S R o) T2 ©0:9e5006?

Options :

1 g 4000



5 . Do

3 & FNTB0

4. v SOTB0

Question Number : 114 Question Id : 630680271315 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It was Sunday on January 1, 2006. What was the day of the week on January 3, 2010?
Options :
Saturday
% )
Friday
e

3y Monday

4 Sunday

Question Number : 115 Question Id : 630680271316 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

All bats are balls.

All balls are stumps.
Some bails are stumps.
Conclusions:

L. Some stumps are bats.
2. Some bails are balls.

3. All balls are bats.
Options :

1 % Both conclusions (1) and (2) follow.

5> « Only conclusion (1) follows.

3 5 Only conclusion (2) follows.

4 % Both conclusions (1) and (3) follow.

Question Number : 115 Question Id : 630680271316 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



20 [HERIOK BN SRR 2 BEM WAX0G. RPErEe0rT SOV TITOS
DD EDN0DKIEE (HESOS 2 5280 DErarE0 Az 2rART, AN
S0A00S IBID &850 (D865 ©NBNOSRIEr Adomotod.

[8&cden: argtlen ) 20ehe.
206560 890 PODE.

&), B0 Yone.
A0 N:

1. §0) DoDen e,

2. 5707 ZonDen 2086

3. 20686 @Q) 2rEe.

Options :

| SwA0ED (1) B (2)en DO e9HBIaw.

5 o SOA0Y (1) SrED HIBR0O.

5, B0 (2) S5 OB

4 s S0000YED (1) AW (3) &0 DO DO W.

Question Number : 116 Question Id : 630680271317 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

Some fawns are gorillas.

All gorillas are leopards.
Some eels are wolves.
Conclusions:

(I) Some fawns are wolves.
(IT) Some leopards are fawns,

(IIT) Some eels are gorillas.
Options :

1 s Only conclusion I follows.

5> « Oanly conclusion II follows.

3.  Either conclusion I or conclusion IIT follow.

4. % None of the conclusions follow.

Question Number : 116 Question Id : 630680271317 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



20 [HERIOK BN SRR 2 BEM WAX0G. RPErEe0rT SOV TITOS
DD EDN0DKIEE (HESOS 2 5280 DErarE0 Az 2rART, AN
S0A00S IBID &850 (D865 ©NBNOSRIEr Adomotod.

8&den:

§Q) 208 ey fFBere,
Forem) DSOS,

g &0 ST,
f0syen:

() &), 208 H0en ST.
(1) &) Duden Bos e,
(1) §Qy &y FEere,

Options :
1y B0 | AT(€5530 DNBNOE.
5 o SO0 11 BB DHIBNOA.

3, A0 15 B S1A0Y Il SR DB OB,

4y SNAOHED D eHOIB0I).

Question Number : 117 Question Id : 630680271318 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A0S @6 520000 @903T¢S (8 esgrdorT,
P<Q<T<S5<U>R

& 9D DODEDS” HOTAE DE?

Options :

1. % Q<5

2. % I=<U

3. % A<U

4.« S<P

Question Number : 117 Question Id : 630680271318 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Based on the inequality statement given below,
P = Q <T=S<U=R

which of these given conclusions is INCORRECT?
Options :

1. % Q=3

2.% IT=U

3. % Q<U

4.+ S<P



Question Number : 118 Question Id : 630680271319 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the term from among the given options that can replace the question mark (?) in the following series.

1A26, 3C24, 5E22, 7G20,?

Options :

1« OIS
> » OHI4
3 OT16

4 » 9K20

Question Number : 118 Question Id : 630680271319 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (FSS 194, XD (2165 250 Tahife 95 526 JoDEL 06 HIFR), VoG,

1A26, 3C24, 522, 7G20, ?
Options :
1.« 9118

2. % 9H14

3 & 9116



4 s 9K20

Question Number : 119 Question Id : 630680271320 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
255588 DT 2N HOTVHT N0R0A0eF HOHHT -2 JoED JOHE0E.

Crch : 888

Options:
1 BOEID 1 O

5 v DEH DY : B0

OGS 1 §5)

4 DBEDY D

Question Number : 119 Question Id : 630680271320 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option in which the word-pair share the same relationship as that shared by the given pairs of words.

Calf : Cow
Options :

1. % Fawn:Swan

2.« Colt : Horse



3 Kitten : Frog
. =

4 5 Tadpole: Cat

Question Number : 120 Question Id : 630680271321 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2.8 D0 55 27 AFHYR ‘ZUSQ @R B0 BOFG' YWUT' &9 70, &3 2 ‘HKLM ) e
oN?

Options :

1. % NPSP

2.« SPON

3. « RQPM

4« SPON

Question Number : 120 Question Id : 630680271321 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ina certain code language, ‘AFHI’ s written as ‘ZUSQ’ and ‘BDFG’ is written as ‘YWUT’. How will ‘HKLM be

written in that language?
Options:

1 % NPSP

2. 4 SPQN



5 . RQPM

4 v SPON

Question Number : 121 Question Id : 630680271322 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ankit travels 8 km East from his house and then turns right and travels 6 km. What is the minimum distance he will

cover to go home?
Options :

1. % Skm

2 % 7Tkm

3.« 10 km

4. % 12km

Question Number : 121 Question Id : 630680271322 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9086 ¢33 B0E3 oG erdh)d% 8 km e |DOFEIoD) Such BsyS80 368 6 km e | DoSreIT R,
e9¢s) 30 20838 %y (DDA Eap (o oes?

Options:

1. % 5km



2 % 7km

3.« 10km

4. % 12 km

Question Number : 122 Question Id : 630680271323 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.

(The words must be considered as meaningful English words and must not be related to each other based on the number

of letters/number of consonants/vowels in the word)

Sheep : Flock :: Sailors : ?

Options :

1. % River

2. % Ocean

3. % Sail

4.« Crew

Question Number : 122 Question Id : 630680271323 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # 3S& (River)
2. % 0SPR™S0go (Ocean)

3. # SSrD (Sail)

4, & f’ozoao& (Crew)

Question Number : 123 Question Id : 630680271324 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one

that is different.
Options :
1. « BDF

2. HIL

3. % RIV

4. VWX

Question Number : 123 Question Id : 630680271324 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

et 8 8-0riren 2 sa@row, TS S JE 2.8 H08S 23er tod, 2468 D)o
GOENOA. DX O G TR, JOTNE0E.

Options :

1.« BDF

2. % HIL

3. % RIV

4 & VWX

Question Number : 124 Question Id : 630680271325 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A question is given, followed by two statements labelled I and II. Identify which of the statements is/are

sufficient/necessary to answer the question.

Question: What is total sale of the Decathlon?

Statements:

[ I Decathlon sold 5000 units of cricket bats and the selling price of each cricket bat is Z500.
II. I Decathlon has no other product line.

[I.  IIL. Decathlon is one stop for buying sports goods.
Options :

1. % Ialone is sufficient while IT and III alone is not sufficient.

2 s I alone is sufficient while I and IIT alone is not sufficient.



3.« BothI and II are sufficient.

4. » BothIand IIT are sufficient.

Question Number : 124 Question Id : 630680271325 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| A5 1l 8 2 DG Both (80 ST° 16 2.8 |34 D) 2GOA. (54) 8 dFErdo
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Options :
1y 1SS HBPEA0E, 11 BT 11l e S SO,
5 NSTE R DB, 1 DBA Il e ST SO,

3 ¢ 10805 Il e Bodar H8FErow.

4 % 18080 Il e Bodsr S ow.

Question Number : 125 Question Id : 630680271326 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Given below are pairs of events (I) and (II). You have to read them and decide their nature of relationship. You have to
assume that the information given in both () and (IT) is true and not assume anything beyond the given information in

deciding the answer.

Event (I). The farmers called off the strike they were observing in protest against farmers act.
Event (IT). The central government has accepted the demands of the farmers against farmers act.
Options :

1. % Statement I is the cause and statement II is its effect.

2« Statement II is the cause and statement I is its effect.

3. 5 Both statements I and II are independent causes.

4 4 Both statements I and II are effects of independent causes.

Question Number : 125 Question Id : 630680271326 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A5 (1) B (1) &7 (D80 26 33 DE0E. b e B8 ared 020 dra),
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Options:

1 o B0 1578690 0BT DEEIS 1l T (HeT50.

5 o D8 11 5°8220 HBAW HELS 1 TR (HET0.
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Question Number : 126 Question Id : 630680271327 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the following series.
7,50,2501,?
Options :

1 % 6255001
5> « 6255002
3 & 6255003

4w 6255004

Question Number : 126 Question Id : 630680271327 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
808 3365 (59 HXA (29 250 Tkife oz, B A JoDES &0k JothEod.

7,50,2501,?

Options:

1 % 6255001



5> « 6255002

3 & 6255003

4w 6255004

Question Number : 127 Question Id : 630680271328 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If 'A' stands for '+, 'Z' stands for '-', 'R' stands for "', "Y' stands for '+, then I4 R I0A42Y 2 Z 8=7

Options :

3 v 153

Question Number : 127 Question Id : 630680271328 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2,83 A 00T '+, 7 @0T) -, 'R' @0T) X, 'Y 90T '+ @000,
14R10A42Y278="

Options :

1. & 132



2. % 141

3 v 153

4. % 165

Question Number : 128 Question Id : 630680271329 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If'7" stands for '+, @' stands for ', 'S' stands for '+, '%4" stands for <", 'B' stands for ‘=, 'M' stands for 'greater than',

then state which of the following is true?

Options :

1. ¢ 10%2S2M10@ 10?78

T@SMO9B1@2%3

Question Number : 128 Question Id : 630680271329 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

283 7 &@T0 '+ ArON08, '@ @A 'R AFAW0E, 'S @A 'R ArFDN0E, % BRE X'
ArON08, B @6 =" ArDN08, M @R 185 "R rdNod, eonds §08 FES 26
QAT B0)0?



Options :

1 v~ 10%232M10@ 1078

> . 6%3@7%8BIME

3 . 2B5SMA4%7@8M6

4w T@8M9B1@2%3

Question Number : 129 Question Id : 630680271330 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The bar graph given below shows the sales of sports bats (in thousand mumber) from six branches - C1, C2, C3, C4, C5

and C6 of a sports company during two consecutive years 2000 and 2001.
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What is the ratio of the total sales of branch C1 for both vears to the total sales of branch C6 for both years?

Options:

1.+ 37:30

5w 37:40



3. % 47:30

4w 47:40

Question Number : 129 Question Id : 630680271330 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.« 37:30

5> w 37:40



3 % 47:30

4. % 47:40

Question Number : 130 Question Id : 630680271331 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following line graph and answer the questions for the Imports of Three Companies over the Years (in Z crore).

so{

¥ /’.\'/'

1903 1994 1005 1906 1997 1998 1990

—+Company X —#=CompanyZ —i—Company ¥

In which of the following vears was the difference between the imports from company X and Y maximum?

Options :

1 s 1994 and 1995

5> « 1993 and 1998
3 1996 and 1997

4w 1997 and 1999

Question Number : 130 Question Id : 630680271331 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1 s 1994 08050 1995

5« 1993 08w 1998

3« 1996 c8CW 1997

4w 1997 s0B6a% 1999

Question Number : 131 Question Id : 630680271332 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Select the most appropriate article to fill in the blank.

gold bag kept on the shelf contains the coin given by my grandmother last night.
Options :

1.8 A

2. % An

3.« The

4. » No article

Question Number : 131 Question Id : 630680271332 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate article to fill in the blank.

gold bag kept on the shelf contains the coin given by my grandmother last night.
Options :

1.&;3**51

2. % A

3.« The

4. % No article



Question Number : 132 Question Id : 630680271333 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate article to fill in the blank.

Last Sunday, I had long talk with my mother over the land dispute among the villagers.

Options :

1.+ 4

2. 4l

3 y the

4. % No article

Question Number : 132 Question Id : 630680271333 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate article to fill in the blank.

Last Sunday, I had long talk with my mother over the land dispute among the villagers.

Options :

1.+ 4

2 g an

3. the

4. w No article



Question Number : 133 Question Id : 630680271334 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

I many messages from my past employer, Mr. Ravi last evening.
Options :

1. % did

2 s has

3y have

4.+ had

Question Number : 133 Question Id : 630680271334 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

I many messages from my past employer, Mr. Ravi last evening.
Options:
1. % did

2. 3 has

3. % have

4.+ had



Question Number : 134 Question Id : 630680271335 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The birthday of my brother Amit is 20™ December.

Options:

1. % at

2. & on

3. # in

4. % of

Question Number : 134 Question Id : 630680271335 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The birthday of my brother Amit is 20™ December.
Options:

1. % at

2.« on

3. ® in



4. % of

Question Number : 135 Question Id : 630680271336 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.

The newly built / bridge is wide / than any other / bridge in the state.
Options :

1 & Thenewly built

5  bridge Is wide

3y than any other

4 % bridge in the state

Question Number : 135 Question Id : 630680271336 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.

The newly built / bridge is wide / than any other / bridge in the state.
Options :

1 & Thenewly built

5  bridge Is wide



3 5 than any other

4 % bridge in the state

Question Number : 136 Question Id : 630680271337 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.
You are / forbidden not / to write on / the school desk.

Sandstone is believed / to be more / prone to / physically erosion.

Options :

1. % You are/ Sandstone is believed

2. 3 Tforbidden not/ to be more

-“; -I I..' -
3 % to write on / prone to

4+ the school desk. physically erosion

Question Number : 136 Question Id : 630680271337 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.
You are / forbidden not / to write on / the school desk.

Sandstone is believed / to be more / prone to / physically erosion.



Options :

1. % You are/ Sandstone is believed

2. g forbidden not/ to be more

xr an I_.' -
3 % to write on / prone to

4« the school desk. physically erosion

Question Number : 137 Question Id : 630680271338 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.

Manya switch off / the light before / Manav locked / the room.
Options :

1« Manya switch off

5 4 the light before

3. % Manav locked

4. % theroom

Question Number : 137 Question Id : 630680271338 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following sentence has been split into four segments. Identify the segment that contains an error.

Manya switch off / the light before / Manav locked / the room.
Options :

1« Manya switch off

5 4 the light before

3. % Manav locked

4. % theroom

Question Number : 138 Question Id : 630680271339 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.

Our company book the / conference room for the / weekly meetings scheduled / on every Monday.
Options :

1« Our company book the

2. 3 conference room for the

3 5 Weekly meetings scheduled

4 4 oOnevery Monday

Question Number : 138 Question Id : 630680271339 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following sentence has been split into four segments. Identify the segment that contains an error.

Our company book the / conference room for the / weekly meetings scheduled / on every Monday.
Options :

1« Our company book the

2 s conference room for the

3 5 Weekly meetings scheduled

4 5 ODEVEry Monday

Question Number : 139 Question Id : 630680271340 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate question tag to fill in the blank.

Rosie is going to Canada for her post-doctoral research, ?
Options :
1. % doesn’t she

2 s 1sshe

3. g didn’tshe

4.« 1sn’t she



Question Number : 139 Question Id : 630680271340 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate question tag to fill in the blank.

Rosie is going to Canada for her post-doctoral research, ?
Options :

1. 5 doesn’t she

2 s 1sshe

3 g didn’t she

4.« 1sn’t she

Question Number : 140 Question Id : 630680271341 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate question tag to fill in the blank.

Harish has no manners and etiquettes, ?

Options:

1.+ has he?

2 s had he?

3 g did he?

4. w dohe?



Question Number : 140 Question Id : 630680271341 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate question tag to fill in the blank.

Harish has no manners and etiquettes. ?

Options :

1.« has he?

2. 3 had he?

3. g did he?

4. w dohe?

Question Number : 141 Question Id : 630680271342 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in passive voice.

The teacher is helping the students.
Options :
1 The students is being helped by the teacher.

5>  The students are being helped by the teacher.

3 5 The students are been helped by the teacher.



4 4 The students have been helped by the teacher.

Question Number : 141 Question Id : 630680271342 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in passive voice.

The teacher is helping the students.

Options :

1 The students is being helped by the teacher.

5  The students are being helped by the teacher.

3 5 The students are been helped by the teacher.

4 4 The students have been helped by the teacher.

Question Number : 142 Question Id : 630680271343 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in active voice.

A letter will be written by me.
Options :

1. % Iwrite a letter.

2. % ITam writing a letter.



3.« Ishall write a letter.

was writing v
4 5 1Waswriting a letter

Question Number : 142 Question Id : 630680271343 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that expresses the given sentence in active voice.

A letter will be written by me.
Options:

1. % Iwrite a letter.

2 % Tam writing a letter.

3.« Ishall write a letter.

was writing .
4 5 LWwaswriting a letter

Question Number : 143 Question Id : 630680271344 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given idiom.

Piece of a cake

Options:

AlWAV i
1 Always dangerous



5 « Simple and easy

3 5 Complete work

4 Quite well

Question Number : 143 Question Id : 630680271344 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given idiom.

Piece of a cake

Options:

1 Always dangerous

5>  Simple and easy

3 5 Complete work

4 % Quite well

Question Number : 144 Question Id : 630680271345 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given idiom.

Ivory tower



Options :

1 g Close living relatives

5 4 Practical life experience

3.+« Aloof from realities

4. 4 Grand building construction

Question Number : 144 Question Id : 630680271345 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the given idiom.

Ivory tower
Options :

1 g Close living relatives

5 4 Practical life experience

3.+« Aloof from realities

4. 4 Grand building construction

Question Number : 145 Question Id : 630680271346 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the most appropriate synonym of the given word.

Divine
Options :

1. » Positive

5  Heavenly

3 5 Rambling

4. % Relevant

Question Number : 145 Question Id : 630680271346 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate synonym of the given word.
Divine
Options :

1. » Positive

5> « Heavenly

3 5 Rambling

4. » Relevant

Question Number : 146 Question Id : 630680271347 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the given word.

Extravagant

Options :

1.+ Economical

. Mildly

3 Consenting

4. x Luxurious

Question Number : 146 Question Id : 630680271347 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the given word.

Extravagant

Options :

1.« Economical

. Mildly

3 % Consenting

4. % Luxurious



Question Number : 147 Question Id : 630680271348 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word to fill in the blank.

Antonio was a wealthy in Italy.
Options :

1. % mercant

2. 3 mmirchant

3. % mmarchant

4.+ merchant

Question Number : 147 Question Id : 630680271348 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word to fill in the blank.

Antonio was a wealthy in Italy.
Options :
1. s mercant

2 mirchant

3 % marchant

4.+ merchant



Question Number : 148 Question Id : 630680271349 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word to fill in the blank.

Many people still believe in
Options :

1. % supersetions

2. s superseetions

3. superstitions

4. % SUpersiteLons

Question Number : 148 Question Id : 630680271349 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word to fill in the blank.

Many people still believe in
Options:
1 s Supersetions

2. s superseetions

3. superstitions



4. % supersitelons

Question Number : 149 Question Id : 630680271350 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homophones to fill in the blanks.
He had flower bouquets to Seema with a bottle.
Options :

scent; sent

1. %

2 sent: scent

3. % scent; scent

4. s sent., sent

Question Number : 149 Question Id : 630680271350 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homophones to fill in the blanks.

He had flower bouquets to Seema with a bottle.
Options :
1 g Scent;sent

. w

2 o sent: scent



3 % scent; scent

4. % sent; sent

Question Number : 150 Question Id : 630680271351 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homophones to fill in the blanks.

I asked my kids to be as [ was feeling tired after a long and harrowing day.

Options:

1« Quiet; quite

5 4 dquite; quiet

3 5 Qquiet: quiet

4 s Quite; quite

Question Number : 150 Question Id : 630680271351 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homophones to fill in the blanks.

I asked my kids to be as [ was feeling tired after a long and harrowing day.
Options:

1« Quiet; quite



2 & quite; quiet

3 % quiet; quiet

4 5 dquite: quite



